INSTRUCTIONS—INSTRUCCIONES—CONSIGNES

APPLICATION: JEEP LIBERTY 2008-2012

Y Part # 40-2475

ITEM QUANTITY DESCRIPTION TOOLS NEEDED
1 1 GRILLE GUARD 19MM SOCKET AND RACHET
2,3 2 MOUNTING BRACKETS (20 15MM SOCKET AND RACHET
DRIVERS SIDE, (3) PASSENGER
SIDE
4,5 2 TOP BRACKETS(4) DRIVERS 9/16” SOCKET AND RACHET
SIDE, (5) PASSENGER SIDE
6,7 2 12mm Double Nut Plate (6) DRIV-  TORQUE WRENCH
ERS SIDE, (7) PASSENGER SIDE
8 2 1 %7 x2 %’ FOAM TAPE STRIP
9 10 M12 x 35MM HEX HEAD BOLTS
10 10 M12 LOCK WASHERS
11 6 M12 HEX NUTS
12 16 M12 FLAT WASHERS
13 2 M8 BUTTON BOLTS
14 2 M8 LOCK WASHERS
15 2 M8 HEX NUTS
16 2 M8 FLAT WASHERS
17 2 M10 SELF TAPPING BOLTS
1. Remove all contents from box. Make sure all parts listed are present and free from damage. Carefully read and understand all instructions
before attempting installation.
2. From underside of vehicle, remove factory tow hooks is equipped. Note you will not be re installing the tow hooks.
3. Through bumper air intake and with welded nuts facing up, insert driver side Double Nut Plate through existing larger square hole in the
radiator support . Center holes on the Double Nut Plate with holes on the radiator support .
4. Partially hang driver side Mounting Bracket to already inserted Double Nut Plate using the included (2) M 12 hex bolts, (2) M 12 lock
washers, (2) M12 flat washers.
5. Repeat steps 3 & 4 for passenger side Mounting Bracket
6. Locate driver side Top Bracket and attach the Foam Tape on the bottom side of Bracket
7. Open the hood and remove a Phillips plastic fastener on each side of the vehicle located in the color grille shell .
8. Loosely attach driver side Top Bracket to vehicle using the include (1) 3/8” x 17 Self Tapping Screw. Repeat this same step for the other
side.
9. With help position Grille Guard on the inner side of Mounting Brackets. Attach Grille Guard to Mounting Brackets using the included (6)
M12 hex bolts, (6) M12 lock washers, (6) M12 hex nuts, and (12) M12 flat washers. Do not fully tighten at this time.
10. Attach Grille Guard to Top Brackets using the included (2) M8 button head bolts, (2) M8 lock washers, (2) M8 hex nuts, and (2) M8 flat
washers.
11. Level and adjust Grille Guard properly; then tighten all hardware at this time

o Westin Automotive Products, Inc. Thank You for choosing Westin products
5200 N. Irwindale Ave. Ste 220 For additional installation assistance please call
Irwindale, Ca 91706

Customer Service (800)793-7846

e 75-0970 REV B ECO W12-0027 3/12/12



GNATURE OF QUALITY
S\

Driver Side
Double Nut
Plate

Driver Side
Mounting
Bracket

%

Foam Tape

Remove these
. - plastic fasteners

0 Westin Automotive Products, Inc.
5200 N. Irwindale Ave. Ste 220
Irwindale, Ca 91706

onNATURE OF QUALER
s

APPLICATION: JEEP LIBERTY 2008-2012
Part # 40-2475

Driver Side

R

Top Bracket

12mm x 35mm Hex Bolts
12mm Lock Washers
12mm Hex Nuts

12mm Flat Washers

Thank You for choosing Westin products
For additional installation assistance please call
Customer Service (800)793-7846

75-0970 REV B ECO W12-0027 3/12/12



